JE % E

f‘

el
—

. on—5%

PARTS LIST

XG850DM
XG850M

atex
—_—

2019.11



RHLNo

Fry—Ry I XEREDI)
XY —Ry I XBER(FD2)
FY—Ry I REFR(ED3I)
FY—HRV Y RXERE D)
Fy—RyH XER((ZD5)
Fr—iRy I XE&R(ZD6)
FY—HRy I XEREFDT)
FY—iRy I XEHR(ZEDS)
FY—HRV O RXEREDI)
IJL—LBE&R(ZFDT)
IL—LER(ZFD2)

—F AR (ZD1)(XG850M)
—F A% (Z®D2)(XG850DM)
—F (B &R (Z®D3)(XG850DM)
XIDo-33a09E &
<879 D1)(XG850DM)
<A77 FEFR(E D 2)(XG850M)
a7 RED3)
ETEEBRR(ED
ETEEBR(ZD2)
ETEEBRR(ZDI)
ETEEBRR(TD4)

IO UBERED)

IO UBRRED2)
ZEER(ED)

8RR (ZD2)

=E RS % (ZD3)(XG850DM)
=& RBA % (ZdD4) (XG850DM)

—_

I R I I R N I il

10. BE-HA—BERED)
10. #BE-HN—BRED2)
10. 1BYE-HN\—BRIR(FD3)
10, BE-HN—BERED)
10. BE-HAN—BEREDS)
10. BE-HN—BEREDS6)
10. BE-HN—BEREDT)
10. #BE-HN—BEREDS)
10. #BE-HN—BREDI)
10. BE-HN—BERED10)
10. #BE-HNAN—BEFRED)

1845 - DA —BERED12)

_.
e

A7V IFEZR (FD1)(XG850DM)
A7V FEZR (FdD2)(XG850DM)



RHLNo
11.
11.
12.
12.
13.
14.
14,
14,

ACCRE®R(ZD1)
ACCHER(ZD2)
~—VE&k 1/2

~—VEE&k 2/2

& mAa%k

Y—ERAMED) EEHREHE
Y—EREEDD RTV-BH
Y—EREMEDI) RRE

QFLEM/I—R[ZDINT

EHmI—FTF2H(OO0O0O0-0O00-000-00: 00) [FFEEAEI—FERLTLET,

1) 12— 4+3v9410-
2) :28—E @45
3):29—F4M)=Y

4) : 32— THEAEFL 7799



1. FY—Ry I XEFREDT)

10
TE5 Eama—k B A Bz g & /NFE B
1 0376-182-200-0 T/M(850M)ASSY 1
2 0375-110-011-0 G.BOX#r-&(L) 1
3 0375-110-012-0 G.BOX/-Z(R) 1
4 V781-100-000-4 TANIXT3Y PT1/4 2
5 0375-110-013-0 VEVINDL S 2
6 0375-110-014-2 FIVY UTUNYT 1
7 V201-261-012-0 N4 IE M10X120 8
8 V201-261-012-5 N4 IE M10X125 2
9 V401-100-010-0 SW 10 10
10 V304-260-010-0 In b 291 M10 10
11 V521-100-801-4 A{I7E"U(B) 8X14 2

SHBIE. (FDNFE2~(ZD8)EEL,



1. FY—Ry I XBRED2)

X

~
i~ N A
NAT

/6
o \/\\\ .
e

/(’7\(;ﬂ 7
//ﬁauj“m

/

Ema—k

23
Al

0 i A 15

/N5 B il

0375-110-015-1

0375-110-016-0
0376-181-011-0
V600-110-600-5
V600-110-630-3

V744-125-400-8
0376-181-240-1
0423-101-008-0
V600-110-620-4
10 0376-181-260-1

© 0 Jd o a b o N =

=a199y39v% 7k
FIVY 423
FIvy ¥ ¥14-14HP
RB.B

RB.B

W=l
h4%7MLD)COMP
I7-AM 9790 %
RB.B
Ny9%7NMLD)COMP

6005
6303

TC25408

6204

_ N = = =



1. XY —Ry I XBER(FDI)

S #HEI—F #0548 F By i = /1N
1 0375-110-018-0 L2 VAP 1
2 0375-110-019-0 AV EA 1
3 V705-140-052-0 CH 4T T) 52 2
4 0375-110-021-0 I79F% Y 2
5 0375-110-022-0 7"%1(3040) 2
6 0375-110-023-0 ¥4+ H979FSP 2
7 0375-110-024-3 979F F4(hH16) 2
8 0375-110-025-0 7"9v1(2015) 2
9 V600-110-600-7 RB.B 6007 2
10 V744-120-350-8 -l TC20358 2
11 0375-110-026-1 7’ L2240 2
12 0311-110-011-0 OY9ah 4k L h8X1X25 8
13 V401-160-008-0 SW 8 8
14 V600-110-600-4 RB.B 6004 2
15 0375-110-220-0 Y7)a7773COMP 2
16 1340-229-002-0 YANH79F074 4
17 0375-110-027-0 Y3970 2
18 V720-101-902-1 oy’ P21 2
19 V744-115-300-7 TA-I TC15307 2



1. FY—ARy Y XEREDA)

f"E H@ma—F B EE & & /NFEEL
1 0380-110-200-1 7’ L—%¥Hn"—(L)COMP 1
2 0380-110-210-1 7' L—%¥Hn—(R)COMP 1
3 0313-110-016-0 Y=k ILF6X10 4
4 V401-160-006-0 S.W 6 4
5 0375-110-029-0 7Uh-t"(30) 2
6 V401-160-010-0 S.W 10 2
7 V333-260-010-0 INAFYRGEYA) M10X1.25 2
8 0375-110-046-1 7 L—%h1L(650) 2
9 0375-110-045-1 7'L—%7—-1L(650) 2
10 V411-260-008-0 WEYN 2 8 2
11 0660-520-012-0 UtyMMms) 2
12 0460-101-300-0 7L—%Y1—-(110)SET 2
13 0460-101-200-0 7'L-%%1-COMP 4
14 0460-101-004—0 Y1-R7WoY 4
15 0375-110-047-0 7'L—%F74H%16) 2
16 3780-121-002-0 TULAVY N % 2
17 0412-204-004-0 utvrM10) 2
18 8935-004-048-0 An'-SP 2

>EHE121X, FE13, 4EED,



1. Fv—Ry I XEHR(EDS)

i s EB&ma—Fk BB fm A #h Bk i /N5E B (iR
1 0375-110-033-0 FIVYY7MAYE 1
2 0375-110-034-0 FIVYYI4(A) 1
3 0375-110-035-0 FIVY'Y74(B) 1
4 0439-110-021-1 VIR 2
5 V680-200-001-0 AF-Iik - 5/16 2
6 0375-110-036-0 YIANAN 1
7 V200-260-601-2 EA M6X12 4
8 V401-160-006-0 SW 6 4
9 0375-110-037-0 YIMNI—2 1
10 V744-116-260-7 -l TC16267 1
11 V744-112-220-7 FAN-I TC12227 1
12 1122-221-013-0 =ik IVF8X20 4
13 V411-260-008-0 RIS 8 10
14 V401-100-008-0 SW 8 7
15 0375-110-230-2 FIvY'AYNCOMP 1
16 0375-110-038-0 YINT-L 1
17 V580-140-402-2 A7VUHE (W) 4X22 1
18 3536-111-008-0 RN AR % 1
19 3051-102-011-0 F191+5(16) 1
20 0375-115-200-0 :28 FIVY'YTYCOMP 1
21 V201-260-802-5 =L M8X25 3
22 V300-260-008-0 FYk M8 3



1. Fv—Ry Y REHREDS6)

f7E Eama—F TR Ik & & INFEE
1 0375-110-039-3 FMLUYIIHP 2
2 V600-110-620-6 RB.B 6206 2
3 0375-110-041-1 FMIE YHP 2
4 \V704-140-030-0 CH4r A9 ) 30 2
5 0375-110-240-1 HIN47°COMP 2
6 3101-101-302-0 7°91(30X40X40) 2
7 V744-130-420-8 TAN-I TC30428 2
8 V742-130-420-5 TANV-I VC30425 2
9 0375-110-042-0 =R 4R L 10X30 12
10 V401-160-010-0 SW 10 12
11 V705-140-042-0 CH4MI(TT) 42 2



1. FY—Ry I RBEFREDT)

G e A =111 e B 2 5 4 iE %= /NS
1 0375-111-011-0  Y74bn'- 2
2 0375-111-012-0  ¥740-5 2
3 V710-140-007-0  EA'4h47 7 2
4 V200-460-601-2  A'Lb M6X12 2 9T
5 V401-160-006-0  SW 6 2
6 3731-551-014-0  )u7 2



1. FY—RY I XEAREDS)

s HB&maI—F iR R im & /N5E B (i
1 0375-111-200-1 :28 #&"Y9RY)%¥AT-COMP 1

2 0375-111-203-1 VR I] 1

3 V201-461-002-5 my VWA M10X25 4 9T
4 V401-160-010-0 SW 10 4

5 V411-260-010-0 IES IS 10 4

6 0375-111-260-0:28 7Y ¥AFAT-COMP 1

7 V201-260-803-5 an 4K Ib M8X35 2

8 0375-111-210-0 $4+hL(L)COMP 1

9 0375-111-220-0 #4+hLA(R)COMP 1

10 0375-111-230-0 7°L-3%+(L)COMP 1

11 0375-111-240-0 7'b-3%+(R)COMP 1

12 0376-111-200-0 7'L—%3%94COMP 1

13 3782-131-014-0 A-4"9v7 2

14 V401-160-008-0 SW 8 2

15 V300-260-008-0 FYb M8 2

16 0375-111-013-0 7' b-%ayE 2

17 V411-260-008-0 ELWIEd 8 2

18 8935-009-013-0 DAX7YIAINT-EY 2

19 0375-111-014-0 7°L-¥0YNFYk 2



1. ¥ — Ry I XER(EFEDI)

7E H@ma—F iR R B = /N5E B (il
1 V201-261-203-0 my T M12X30 4

2 V411-260-012-0 LW 12 8

3 V401-160-012-0 SW 12 4

4 V300-260-012-0 FYk M12 4

5 3101-151-404-0 :28 HKANNAT 0% 50X4.5 2

6 V201-461-002-5 my T M10X25 4 9T
7 V401-160-010-0 SW 10 4

8 0375-115-013-0:28 AA—#(25X25) 4

9 0375-120-011-2 :28 K4 LA7'BYYL 2

10 0375-120-012-0 A7 O AN R(10) 2

11 0374-120-011-0 Yo% h 2

12 0375-121-011-0 #ILMM10X25-11T) 2

13 V201-460-802-0 ny VWA M8X20 4 9T
14 V401-160-008-0 SW 8 4

15 V720-103-504-1 oy P41 2



2. ZL—LEZR(EZEDT)

fqE Eama—k ER e E%k 5 & /NFEE
1 0376-212-200-1:28 }3997L—L(XG850)COMP 1
2 0375-220-200-2 :28 ¥ COMP 1
3 0375-220-011-0 YY) AN =i 1
4 V201-261-203-0 ) TN M12X30 10
5 V411-260-012-0 IWEYH A 12 10
6 V401-160-012-0 SW 12 10
7 V300-260-012-0 Tk M12 10

-10-



2. 7L—LER(ZFD2)

75 E&ma—Fk BB am A Fh EE B = /NS iR
1 0376-234-300-1 :28 70Y+7L—L(LDH)COMP 1

2 V201-261-203-0 IR 4R ILb M12X30 10

3 V411-260-012-0 NN A 12 18

4 V401-160-012-0 SW 12 10

5 V300-260-012-0 FYk M12 10

6 0376-234-011-0:28 AF97°hn"—1200 1

7 V200-460-601-6 AN M6X16 2 9T

8 V401-160-006-0 SW 6 2

9 3789-151-006-0 #yA7 2

-11-



3. ZHF A%k (ZM1)(XG850M)

7

fqE EHma—F BB R Fh E%k g & /NFE B
1 0376-256-300-0:29 =44(850M)COMP 1
2 8935-001-064-0 H399E°SP 3
3 V271-160-802-0 FAYK b 291 M8X20 3
4 0437-251-011-0:28 Z&AYTunN4A7 1
5 V500-165-005-0 ey 5X50 2
6 0375-270-200-0 :28 =#'{}sh"#COMP 2
7 V201-261-203-0 I 4R WE M12X30 6
8 V411-260-012-0 IES IS 12 6
9 V401-160-012-0 SW 12 6
10 V300-260-012-0 TYk M12 4

-12-



3. ZA A& (£ M2)(XG850DM)

fqE Eama—F BB R Fh Bk & /NFEE
1 0437-275-210-3 :28 4'Y7"YTYRHCOMP 1
2 V201-261-203-0 ) 1A M12X30 3
3 V411-260-012-0 IS 12 3
4 V401-160-012-0 SW 12 3
5 V300-260-012-0 FYk M12 3
6 0437-275-200-3 :28 4Y7°YTYLHCOMP 1
7 V201-261-203-0 mYIEY A M12X30 3
8 V411-260-012-0 RIS 12 3
9 V401-160-012-0 SW 12 3
10 V300-260-012-0 FYk M12 3
11 0455-210-013-0:12 HaAn&™Hy 1
12 W201-261-211-0 Y T ANOLE ) M12X110 1
13 V411-260-012-0 RIS 12 4
14 V401-160-012-0 SW 12 1
15 0376-275-011-1 4htyMM12X35) 1
16 V300-260-012-0 FYk M12 2
17 0375-276-200-1:28 %Yv4 ) COMP 1
18 V201-261-603-5 I 4R Wb M16X35 6
19 V411-260-016-0 RIS 16 6
20 V401-160-016-0 SW 16 6
21 V300-260-016-0 FYk M16 6

-13-



3. ZX A1B8& (Z£M3)(XG850DM)

fqE E&ma—Fk BB m A Fh Bk g & /NFEE
1 0376-257-300-0 :29 =%4{(850DM)COMP 1
2 0430-204-001-0 770Y° 79125 2
3 0368-302-250-0 h4F Y TVCOMP 1
4 0412-204-002-0 ZEAYTUATANY 1
5 V211-260-801-6 IN4EIWMS) M8X16 2
6 0438-251-250-0:29 H4A{7Y9COMP 2
7 0438-251-011-0:29 4 —Io% 2
8 V211-360-802-5 IN 4K IWMSP) M8X25 4
9 0376-257-220-0 Ay (XG850)COMP 2
10 8935-042-034-0 JYhn'-h4A{SP 2
11 V411-260-010-0 HIESIR 10 2
12 V500-162-502-0 ey 2.5X20 2
13 V300-260-010-0 TYk M10 4
14 8935-001-064-0 H799E°YSP 2
15 V271-160-802-0 FAYK W 21 M8X20 2

-14-



4, XTJH-37 5%

fqE Eama—k B Bk & & /NFEE
1/ 0438-260-210-0 :29 vIJ%(1080)COMP 1
V201-261-203-0 N4 IE M12X30 4
3 V411-260-012-0 INFYN A 12 4
4 V401-160-012-0 SW 12 4
5 V300-260-012-0 Tk M12 4
6 V201-261-002-5 IN4E Wb M10X25 2
7 V411-260-010-0 eI 10 2
8 V363-260-010-0 INAFIN RYEFYL M10 2
9 0438-260-012-0 749k *23790(L) 1
10 0438-260-013-0 79b*42"90(R) 1
11 V302-260-010-0 Tk 391 M10 4
12 0439-261-210-0 :29 7—F(SL380)COMP 1
13 V211-360-802-5 N4 WISP) M8X25 2
14 0376-263-310-1:29 3374(1830)LCOMP 1
15 0376-263-320-1:29 3374(1830)RCOMP 1
16 V704-140-035-0 CH 4TI Y) 35 4

-15-



5. DVATJUEFRCGEDT) (XG850DM)

3—=2 g 6

f"E Hma—Fk e 0 EE g & /NFEEA
1 0438-267-200-1:29 A74D(1080)COMP 1
2 0437-277-200-0 :29 7Y079YTYCOMP 2
3 V211-361-002-5 048 WISP) M10X25 4
4 V360-260-010-0 UL VESRI 11 M10 4
5 0437-277-012-0 RGNV () 1
6 0437-277-013-0 Y5 -kn-(R) 1
7 0412-204-003-0 NANYTUFR Wb 2
8 3911-550-015-0 #31'2(10) 2
9 0412-204-004-0 UFryMm10) 2
10 8935-001-064-0 H399E°YSP 2
11 V271-160-802-0 Fak Wk 291 M8X20 2

_16_



5. 2O VEZR(ZMD2) (XG850M)

WL NN
AR
/////
MANERRN
Qy AN

'\ / AR
NN
// \ /\\V’\/\/Z \
/
—

5 B if

I

g =

B2k

D i B 15

0458-266-200-6 :29 7¥A7%6(1080H)COMP

0g

Ha

iy

i~

1

35

CH4+A0(/Y)

2 V704-140-035-0
3 0438-260-013-0
4 0438-260-012

5 V302-260-

#Y790(R)

79k 2%790(L)

b

Y

-0

31 M10

-0

010

_1 7_



5. oA R (ZMD3I)

F5

E&ma—Fk

0 A TR =k & & /]N5E B fff
1 0438-264-200-2 :29 44LFAL)COMP 1
2 0438-264-210-2:29 44LNA(R)COMP 1
3 0438-264-011-1 4FUN ASP 2
4 4301-210-002-0  £ARKLI6X16(H5HY) 2
5 V361-260-006-0 ¥ FVFFUL 21 M6 2

-18-



6. ETEERREDT)

7B H@mad—Fk AT Bk g & /NFEE
1 0560-310-210-0 FYIU(150X142)ASSY 4
2 0560-310-220-0 F91(150X142)COMP 4
3 0560-310-011-0 AT 6204 8
4 0560-310-012-0 TAv—l 8
5 0560-310-013-0 Y7h 4
6 0560-310-014-0 Hh % 8
7 0560-310-015-0 TYRZYT W M6X1 4
8 0560-310-016-0 Fob 4
9 0560-310-017-0 FyMM14) 4
10 0560-310-018-0 WA R(14) 8
11 0560-310-019-0 cyuy S20 8
12 0560-310-021-0 FAMIN=(NTU/14) 8

>HEE1E. FE2~12%58T,

-19-



6. ETEERR(ZND2)

f7E H@mad—F L] EE B =& N5E B i
1 0560-330-200-0 :28 4374%# COMP 4

2 0312-240-013-0 7°V2(YIN/25X28X25) 8

3  0560-330-012-0 EN ISV 4

4 3768-361-029-0 A-4% " Y-p A I % 8

5 V401-160-010-0 SW 10 8

6 V203-461-002-0 IR GERIWIGEYF) M10X1.25X20 8 9T
7 0376-312-220-1 R A-5(135X130)ASSY 8

8 0560-330-310-0:28 O—7(135X130/A)COMP 8

9 0354-310-021-1 FAMIN=(NTV/16) 16
10 0560-310-016-0 Fyb 8

11 0560-310-015-0 TVRAZ97' M6X1 8

12 0560-310-018-0 WY H2(14) 16

13 0560-310-014-0 #h'% 16

14 0560-310-012-0 A= 16

15 0560-310-011-0 NTIY 6204 16

16 0376-312-221-0 Y%7M181) 8

17 0560-310-019-0 chuy S20 16

18 0560-310-017-0 FybM14) 8

>HEEIE. FB8~18%EL,

-20-



6. ETEERR(ZDI)

qE EHma—k BB Fh E% g &= /NSEEE i
1 0560-320-011-0 :28 7v7°0—5(104) 2
2 0376-321-011-0 797" 0—7%7M159) 2
3 V600-110-620-2 RB.B 6202 4
4 V742-115-350-6 FANY-I VC15356 4
5 V705-140-035-0 CH 4T T) 35 4
6 0560-320-013-0 4" AN —(12X35X3) 4
7 0661-173-013-0 799%(12X40X03) 4
8 V401-160-012-0 SwW 12 4
9 V300-260-012-0 FYk M12 2
10 0376-321-012-1 FyhM12X22) 2
11 3901-310-016-0 SYZRZYT N A-M6F P=10 2

-21-



6. ETEERR(ZND4)

FE Ema—k BB Fh EES g & INFEE
1 0361-203-001-1:28 FAMIB-7 2
2 V600-110-600-4 RB.B 6004 4
3 V740-120-420-6 FAN-N SC20426 4
4 V705-140-042-0 CH 49T T) 42 4
5 0376-331-011-0 74N 747M142) 2
6 0361-203-003-1 IV VAN —(14) 4
7 V411-260-014-0 eI 14 4
8 V401-160-014-0 SW 14 4
9 V300-260-014-0 F9b M14 2
10 0560-310-016-0 b 2
11 3901-310-016-0 YRz N A-M6F P=10 2
12 0376-341-200-0 :28 74FFAYL(XG)COMP 2
13 0375-340-220-0 TANFEYME ILECOMP 2
14 V303-260-020-0 i 5] M20 2
15 0376-352-011-0 HB—7(250X50X72) 2

-22—



7. TR EDT)

75 Hama—F BB A R B I /NFEEA
1 0376-418-200-0 IvY°YGB290tL 1
2 0376-418-011-0 7799 K LM 10X40-6.8 4
3 0339-181-235-0 759" F9rM10-4.8 4
4 1106-620-011-0 795%(10X25X4.5) 4
5 0376-444-220-0 :28 EA'—A(XG850M)COMP 1
6 0372-423-011-0 #9907 K50 4
7 V201-261-002-5 ) T A M10X25 8
8 V411-260-010-0 IE IS 10 8
9 V401-160-010-0 SW 10 12
10 V304-260-010-0 y) 5 ] 291 M10 12
11 3780-121-002-0 TUYAVY N % 4
12 0376-444-210-0 T—I47(GB)COMP 1
13 3731-551-008-0 Fy-A4I¥h’s 2
14 V201-260-802-5 ) T A M8X25 2
15 V401-160-008-0 Sw 8 2
16 0376-445-220-1:28 N{79H°4F(LDH)COMP 1
17 V361-260-006-0 YIN2YEFIb 2Y1 M6 2

—_
[ee}

1115-422-012-0

JE*—F44(100)

_23_



7. T VER(ZED2)

s EB&ma—Fk BB e % 1 Bk g & /NSE B
1 0376-431-320-0 :28 N'yT')r—A1200COMP 1
2 V201-261-002-5 my T M10X25 3
3 V363-260-010-0 INEHIN RYETUR M10 3
4 0453-455-011-2 NYT34A(G) 34A19R 1
5 0376-431-200-1:28 N'YTJHN—COMP 1
6 3913-523-012-0 T LAR ILEM6 X 12(A5Hh%) 2
7 0376-430-011-1:28 NYFJAHI 1
8 0372-431-014-0 NYTEYRRY 2
9 V360-260-006-0 FIN2IFFYb 11 M6 5
10 0376-431-300-0 #4Y3—FEH(1200)COMP 1
11 0313-430-014-0 7IAY-F Y 1
12 0375-430-011-0 T-AU-Fty 2
13 0450-505-013-0 MIAYF 1
14 0376-444-230-1 Y4h31—+(GB) 1
15 0325-503-004-1 e-r4 1
16 0384-420-015-0 IJE*~44(200) 2
17 3536-142-006-1 DAY-t ATy 1

_24_



8. (ZERFER(ZD)

13
10
1
f"E EB&ma—Fk BB en A 5 EE g & /NFEEA
1 0375-510-011-1:28 7°—I)(E) 1
2 0375-510-012-1:28 7°=Y(M) 1
3 0375-510-015-0 *-(06X06X30) 1
4 3731-551-014-0 )7 1
5 V200-460-601-6 AN M6X16 1 9T
6 V401-160-006-0 SW 6 1
7 V183-448-002-0 RAIhYTHIR S F IS M8X20 4 9T
8 0377-510-200-0 :28 M7—)JAFYN'M)YCOMP 1
9 V211-260-801-6 R4 ILNS) M8X16 3
10 V401-160-008-0 SW 8 8
11 0376-514-230-1:28 M7 —!JAkyn’(LD)COMP 1
12 0375-510-014-0:28 M7-YAMIN (D) 1
13 V201-460-802-0 my T A M8X20 6 9T
14 V201-260-802-0 my VWA M8X20 1
15 V411-260-008-0 MR H A 8 3
16 V304-260-008-0 Y 5 ] 291 M8 1
17 0376-511-200-3 :28 Y%aA9T7,Y3YCOMP 1
18 8935-001-011-0 TUv3Av7°-Y 2
19 V704-140-020-0 Ch kA9 ) 20 2
20 V201-460-802-5 my T M8X25 2 9T
21 3100-310-003-0 VY V7= 1
22 - 1 IV VALER

_25_



8. ImEER(ZN2)

"qE HHma—Fk BB &n £ 5 B & /NFE B i
1 0376-516-011-0 19°A°ILMSC37-HP4) 2
2 0376-516-200-0:28 AkyN'A—Z(GB)COMP 1
3 V211-260-802-0 IN4ERIVNES) M8X20 3
4 0375-512-210-0:28 AMIN(YI)COMP 1
5 V363-260-008-0 INAYIN RYEFYE 21 M8 2
6 0375-512-220-0:28 AMIN(V4)COMP 1

_26_



8. {=ERH{R(Z D 3)(XG850DM)

3
Al

YA

Ema—k

P im B 15

B2

iE %= /MR B A

oO©@®uNo UhwN =

—_ - - -
HwWN =

0351-510-012-0
0375-520-012-0
0375-520-013-0
V211-360-802-0
V363-260-008-0

0365-504-230-0
8935-058-026-0
V201-461-002-0
V401-160-010-0
0375-520-200-0

0375-512-220-0
0376-516-200-0
V211-260-802-0
0375-512-210-0

128
128

128

128

128
128

128

A'ILMVIY'B38)
ANIFARYNP(T)
NIAMINPES)
048 WISP)
INEYFIN 2YETUR
179Y7-JCOMP
SPYTY I #

) TN

Sw

7-YAMIN' (P)COMP

AMIN'(4)COMP
Abyn°A’=A(GB)COMP
IR 4EIWNS)
AMIN'(I)COMP

M8X20
291 M8

M10X20

10

M8X20

_27_

_ e = BN = = =

—_ W = =

9T



8. {ZERIR(ZD4)(XG850DM)

W1

S \

3 S )

B~

8
9
+—13
"o
FE Hma—k B En £ Fh B g & /NFEEA

1 0375-520-210-1:28 #'Y7°"A'—ZACOMP 1
2 V211-260-802-0 Y KT ANE)) M8X20 3
3 0375-520-220-0:28 V7' TUY3YCOMP 1
4 3731-551-019-0 7937’ 1
5 V704-140-012-0 Chab A7) 12 1
6 0375-520-014-1 # V7' TUAUSP 1
7 0375-520-230-1:28 1&'v7%973YF7-LCOMP 1
8 8935-058-029-0 MYy FYHISP 1
9 0375-520-240-0:28 & Y7%3YFLN—COMP 1
10 2150-811-002-0 VPVAUNIEY) 1
11 0357-503-012-0 LIN-YTUEY 1
12 V411-260-012-0 IWEYH R 12 1
13 V500-163-002-5 ey 3X25 1
14 0375-520-260-0 :28 & 'Y7'A™—A(V5)COMP 1
15 V201-261-002-5 ) TN M10X25 2
16 V401-160-010-0 SW 10 7
17 V411-260-010-0 LW 10 11
18 V300-260-010-0 FYk M10 5
19 0375-520-250-0 :28 &7 755 COMP 1
20 0375-520-016-0 :28 PTyyav4-vEe3h'# 1
21 8935-004-048-0 hn'-Sp 1
22 V201-261-003-0 i KT/ M10X30 4

_28_



9. A7 VYV FEZR (ZMD1)(XG850DM)

"qE HBEmad—F BB Em £ Fh B g = /N5 Bl
1 0376-530-200-0 17YkV7L5-175 1

2 0375-530-210-0 :28 17YLN'-COMP 1

3 V201-461-002-0 myIET AN M10X20 1 9T

4 V401-160-010-0 SW 10 1

5 3640-585-001-0 —¥({1m-) 1

6 0412-205-009-0 90° Tk’ 4

7 0550-530-012-0 #—2(1950) 2

8 0376-530-011-0 #3'F21—7°(14X600) 2

9 3536-142-006-1 DAY-b ATy 1

_29_



9. A7V FEZR (ZMD2)(XG850DM)

qE H@mad—Fk BB Fh Bk {i& /N5E B
1 0376-530-300-2 :28 !)4°(240-365)ASSY 1

2 0362-302-360-1 Y)U447°COMP 1

3 0328-530-301-1 AYh(364) 1

4 0315-303-222-0 YR hn - 1

5 0315-303-223-1 £ Ay 1

6 0315-303-224-0 8 AM-I135 1

7 0315-303-225-0 Unvy%v35 1

8 V721-103-105-8 oy G58 1

9 V720-102-402-0 oy P20 1

10 0315-303-226-0 Unvy%v63 2

11 0433-025-013-0 AYAIT IR 1

12 V411-260-016-0 IES I 16 1

13 V330-460-016-0 FybGRY A M16X1.5 1 7T
14 0315-303-290-0 Y—ISET 1

15 0412-205-009-0 90° T 2

16 3536-142-006-1 DAY-b 1Y 3

17 0437-530-013-0 YTy 2

18 0330-203-008-0 ATV TTH R % 4

19 V500-165-003-0 ey 5X30 4

SHE1E. FFE2~1328T,
>HE14lE. FE6~102ET,

-30-



10. ##1E-D/N\—FZR(ZD1)

f"E H&ma—F BB B g & /NFEEA
1 0375-610-200-1 FIVY' LN -COMP 1

2 0410-202-006-1 FIVYHYI7’ 1

3 0375-610-210-1 FIvY 0YMEYCOMP 1

4 V580-140-602-8 ATYUTEU(W) 6X28 1

5 V203-460-802-0 my KT ANG VD)) M8X1X20 2 9T

6 V411-260-008-0 IEL IS 8 2

7 V401-160-008-0 Sw 8 2

8 3536-111-008-0 AR AN % 1

_31_



10. $&4F- h/N\—BfR (ZD2)

fqE Hma—Fk BB fm £ 5 EE g % /N5E il
1 0376-611-200-0 h9v5(L)COMP 1

2 0376-611-210-0 H94(R)ICOMP 1

3 0375-611-011-0 ho4a50) 3

4 0375-611-012-0 ho497(2) 1

5 V201-461-003-0 Ih AR b M10X30 8 9T
6 8935-001-062-0 MY H % 16

7 V401-160-010-0 S.W 10 8

8 V300-460-010-0 FYb M10 8 7T
9 0340-301-004-0 Y7 TIE VY7 4

10 V500-164-003-5 Y 4X35 2

11 8935-042-034-0 Y hn-h4A4SP 2

12 0376-611-011-0 Ay 160(M10) 2

13 0376-611-012-0:28 43YFAYF(192) 1

14 0376-611-013-0:28 43YFAYF(222) 1

15 V300-260-010-0 FYb M10 4

16 V411-260-010-0 XN A 10 4

17 V500-162-502-5 Y 2.5X25 4

_32_



10. #24F- D/ \—FfR (£ D3)

75 EHeama—k e 0 &%k 1 /|N5E B fiff
1 0375-611-250-1:28 #A+4)539F7-L(L)ICOMP 1

2 0375-611-260-1:28 #{+459F7-L(R)COMP 1

3 0375-611-015-0 AN IF9FVTOE Y 1

4 0375-611-016-0 E74% h #(Qh416) 1

5 V500-164-003-0 ey 4X30 1

6 0375-611-017-0:28 H4F4739FAYN(L) 2

7 0375-611-018-0:28 #4453V FAYL(R) 2

8 V411-260-010-0 IELWIEd 10 6

9 V500-162-502-5 ey 2.5%X25 6

10 0375-611-270-2 :28 #4F43YFLN'—COMP 2

11 1394-330-012-0 NNV T 2

12 V201-461-002-5 ) T A M10X25 2 9T
13 V302-260-010-0 FYk 3%1 M10 2

14 0375-611-019-2 :28 HAF479FOYF AN - 1

15 V200-460-601-6 FAN M6X16 2 9T
16 V401-160-006-0 Sw 6 2

17 3789-151-006-0 2= UV 2

_33_



10. #24E-HhN\—BR (FD4)

\@"\Q

8
6

12

5
5
qE EHma—k BB Fh E %k i ALK i
1 0376-622-200-0:29 Hn'—7L—A(LDH)COMP 1
2 V211-361-002-0 N 4K IWMSP) M10X20 5
3 0740-530-015-0 74N L(70) 1
4 0376-620-210-1:28 HhnN'-ATF-COMP 1
5 V211-361-002-5 a0 48R WASP) M10X25 6
6 V363-260-010-0 I sYIN2YFFIL M10 2
7 0375-620-011-0 :28 HN-ZAF-H#H#I 1
8 V363-260-010-0 INAYIN RYEFYR M10 2
9 0376-621-230-0:29 R{yFA—ACOMP 1
10 4301-210-002-0 BLAR WI6X16(ATHY) 2
11 1122-455-220-0 MYAL9FASSY 1
12 0376-622-220-1:28 %%Y7'L—FCOMP 1
13 V210-360-601-6 HIVMSP) M6X16 3

-34-



10. 24E-HN\—BER (FD5)

qE EHama—F BB fn 44 5 EES g % /N5E il
1 0376-621-310-0 3y YFA'—=ZCOMP 1
2 V210-360-601-2 K IWMSP) M6X12 2
3 0376-621-012-0 VAL EWNTA 1
4 8935-056-025-0 1),4(20) 1
5 V411-260-008-0 IELWIEd 8 1
6 0660-520-012-0 U IN(Y ) 1
7 8935-004-051-0 An'-SP(L) 1
8 0339-451-051-0 A{9F(A)ASSY 1
9 V120-363-002-0 752+~ %Y (SP) M3X20 2
10 3642-496-007-1 AyFhr4 1

_35_



10. $&4F - H/\—BfR (£ D6)

s Eama—k BB T B 5 & /NSE B (i
1 0375-623-200-0 939F7-L(L)COMP 1
2 0375-623-210-0 979F7-L(R)COMP 1
3 0376-623-014-0 h7—(20X32X9) 1
4 0375-623-012-0 979FLiN- 1
5 0423-502-001-0 H79FVTIEY 1
6 V411-260-012-0 LW 12 1
7 V500-163-002-5 ey 3X25 1
8 0375-623-013-0:29 439YFAMIN 1
9 V211-160-802-0 R4 WMP) M8X20 2
10 V362-260-008-0 AN GEINRYEFIE 191 M8 2
11 3517-105-004-0 Ln-24%7) 1
12 0375-623-220-0 479709+ (L)COMP 1
13 0375-623-230-0 479709+ (R)YCOMP 1
14 V411-260-010-0 IES IR 10 2
15 V500-162-502-0 ey 2.5X20 2
16 8935-005-026-0 DV SIEVIIVIS 2
17 V300-260-008-0 FYk M8 4
18 0380-623-021-0 A74 (HE66) 2
19 0376-623-250-1:28 #43%YFAYF COMP 2
20 V411-260-008-0 IESIR 8 2
21 V500-162-501-5 ey 2.5X15 2
22 8935-004-048-0 hnv-sp 2
23 0376-713-200-1 A{yF7—-LCOMP 1

_36_



10. $&4F- W/ —BER (D7)

f"E Eegmad—k B A B & & /NFEEA
1 0375-623-240-0 7°L-%LN-COMP 1
2 0376-623-200-1:28 7'L-¥Ln'-7-LCOMP 1
3 0375-623-015-0 7= -h7- 1
4 0375-623-016-0 7% -YTuEY 1
5 V411-260-012-0 IESW IR 12 2
6 V500-163-002-5 eV 3X25 1
7 8935-042-034-0 YN -h4A{SP 1
8 1111-410-013-0 ~¥(7h-10) 1
9 0376-623-011-0 7 L=y (110)E57) 1
10 0376-623-012-0 7°L—%0Y4(85) 1
11 0351-623-014-0 TV YAMYR 1
12 0375-611-014-0 FYMESIM10) 1
13 V300-260-010-0 FYk M10 1
14 V411-260-010-0 IELWIEd 10 2
15 V500-162-502-5 ey 2.5X25 2

_37_



10. ##1E-H/N\—FR (£ D8)

qE Hma—Fk BB fm £ 5 B g % /|NFE B i
1 0375-624-011-0 FI-974% 1
2 3536-142-006-1 DERSISYib /A 1
3 0376-625-011-0 ARYMLLN = 1
4 0376-625-012-0 =7 W (AAYL) 1
5 V111-166-001-2 73RN IRY M6X12 2
6 V411-260-006-0 NN A 6 2
7 V401-160-006-0 SW 6 2

_38_



10. #£4F-H/\—BEfR (ZD9)

7B H@ma—Fk B mA Bk {& /NFEE
1 0376-635-310-0 :28 Efin'—70YMLDH)COMP 1
2 V201-261-003-5 ) T AN M10X35 2
3 V411-260-010-0 INEYH A 10 4
4 0412-204-004-0 UFrYyrm10) 2
5 1106-620-011-0 79549 (10X25X4.5) 2
6 V303-260-010-0 InaFYk M10 2
7 0376-635-300-1:28 IV VAN —(850M)COMP 1
8 0334-421-021-0 F5A32%3°(M8X20) M8X20 5
9 V361-260-008-0 HIN2YETYR 291 M8 5
10 0376-633-012-0 A =7F3° L(190) 1
11 3768-362-504-0 WK Y VN A 2
12 8935-069-026-0 RV VAR YY) 2
13 0376-630-011-0 FYRYAR YUY 1
14 0376-633-011-0:29 #/FHN—(XG) 1
15 4301-210-002-0 B AR IL6X16(BTHY) 4
16 4201-220-019-0 t+Yh/7°(M8X20) 1

-39-



Y5 - D/\—FBER (£ D 10)

&
=

10. %

INTEEA

iE =

(kS

i 2 FF

B

I
[=]

0z

Ho

iy
i

70h¥29(XG850)
TLYH2(6)

0376-636-025-0
2 0772-810-015-0

1

p7A325°(M6X16)

3 P115-630-013-0

-40-



10. 1E-H/\—BR (FD11)

3
2
T B mA Bk g & /NFEE
1 0376-641-200-0 :28 IyT(XG)COMP 1
2 V201-461-002-5 IR Wb M10X25 2 9T
3 V411-260-010-0 INEYH A 10 2
4 V363-260-010-0 INIFIN RYEFYR M10 2
5 V211-360-802-0 N 4K IWMSP) M8X20 2

-41-



10. 4 - D/ —BEfR(ED12)

7B H@ma—Fk B mA B g & /NFEE i
1 0376-656-210-0 :28 ¥—FA"—ZCOMP 1

2 V201-461-002-5 ) TN M10X25 1 9T
3 V401-160-010-0 SW 10 1

4 V411-260-010-0 INEYH A 10 1

5 0452-210-250-0 =8 4K9Yy7 ACOMP 2

6 V362-260-008-0 AN AYIN RYEFYR 11 M8 2

7 0673-870-200-0 Y—FASSY 1

8 V363-260-008-0 AN AYIN RYEF YR 291 M8 4

9 0376-657-011-0:28 Y—PAT— 1

10 V201-261-003-0 my KT WA M10X30 2

11 V411-260-010-0 IELWIEd 10 4

12 V304-260-010-0 Ry YW 291 M10 4

13 0384-420-015-0 Jt*—F44(200) 1

14 0670-440-017-0 to—(t—771-) 1

15 0670-440-016-0 EsFyMM14) 1

16 0673-870-011-0 A7v9°(HC034) 1

-42-



11. ACCE R (ZMD1)

Eama—k B A
1 0437-711-200-1 597’ (12N)SET 12V-20W 2
2 0437-711-201-0 12V-25Wn'IL7° 2
3 V201-260-801-6 ) 1A N M8X16 4
4 V362-260-008-0 INFIN RYEFYE 11 M8 4
5 0376-712-011-1:28 Ju7°H—F 1
6 3614-273-220-0 #33A7r) A(YFASSY 1
7 0376-712-200-0 597" 1-FNCOMP 1

SFEIE. FE2EET.

_43_



11. ACCRH{R (ZmM2)

10
75 Ee&ma—k BB a4 R &%k B & /|NFE B fiff
1 0376-713-210-0:28 A{9FAF—COMP 1
2 V210-360-601-6 i IWMSP) M6X16 2
3 0354-422-230-0 )3YFR{YFCOMP 1
4 V111-163-002-0 7 IRAFAIRY M3X20 2
5 V411-260-003-0 IWEYH A 3 4
6 V401-160-003-0 SW 3 2
7 V300-260-003-0 Fob M3 2
8 3536-142-006-1 DRI SYib/A 1
9 0455-440-013-0 J—-(1LY) 1
10 V210-360-601-6 H IWMSP) M6X16 1
11 V361-260-006-0 HIN2YFFIR 291 M6 1

_44_



12. <—2B1& 1/2

_45_

Skt EHama—F BB m A #h B %k g & /NFEELT
1 0453-915-018-0 TTY9RL Y (LW) 1

2 0437-910-019-0 NIYYATYH— 2

3 0453-916-011-0 INVETV/ ANy 1

4 0453-910-024-0 INNFAT/TUY ) 1

5 0453-910-027-0 INICFLIA/M)EY) 1

6 0438-910-024-0 INVETY/X3A9T7Y) 1

7 0453-910-028-1 INWI439/9348Y) 1

8 0329-910-034-0 NN A9 /7 -Vh4TY) 1

9 0453-910-025-0 N WA /98) 1

10 0453-910-021-0 IN Wy /oh%) 1

11 0439-910-025-0 INWFa94/90T0F UYL 1

12 0376-911-041-0 7 W¥-9(850M) 2

13 0325-701-011-0 179979F3-9 1 DEEHA
14 0325-701-009-0 A7YY9HR-Y 1 DEEHA
15 0374-910-015-0 A7YYIHFIYIR-Y 1 DEEH
16 0453-910-022-0 FNMErY/251) 1 DEEHA
17 0376-910-011-0 Y¥I=4(XG) 1

18 0375-910-016-0 $191v-% 1

19 0376-910-021-1 PTTVAT=H(XG850M) 1

20 0312-910-018-0 SPLP ] 1



12. T—VR% 2/2

15

H@ma—F

0 & A 5

EE

&

z

/NFEE

21
22
23
24
25

26
27

0351-910-013-0
0376-919-031-0
0376-916-011-0
0166-921-017-0
0376-911-036-0

0376-911-015-0
0376-910-035-0

AV ESY
hU)3—4(XG850)
Y=H(R1YFHI=)
39TV
70U0ET VY —4(850)

Y1457 e—4(850)
INMFIVY VN -h)=Y)

_46_

—_ = =



13. T mBEER

4 5
7
) :
Jd
6
qE EHma—k BB Fh Bk g & /N5E B
1 P103-931-004-1 NG (=) 1
2 0360-302-004-0 bVI0-5Y AR LE 1
3 V767-400-000-0 SUYRZYT N A-M6F 1
4 V910-550-002-7 W9 FANFR) 27 1
5 V920-551-401-7 YA FANFE) 14X17 1
6 0312-940-012-0 Y37 1
7 0376-946-001-0 MJEY(XG850M) 1
8 0771-960-011-0 EEDVAY RN 1
9 0772-950-015-3 IVEDVE U = bVES! 1

-47-



14. Y—ERXREBEHCED) EHEFESR

5 E&a—k BB i 1 B2k s & /NSE (i
1 0376-516-011-0 17~ WNSC37-HP4) 2

2 0351-510-012-0 A'JLMV34'B38) 1

3 0453-455-011-2 NYTY34A(G) 34A19R 1

4 0460-101-200-0 7°L-%%1-COMP 4

5 0376-352-011-0 /0-3(250X50X72) 2

6 0450-505-016-0 E1—2"10A 1

7 0621-430-011-0 E1—2"hU(20A) 2

8 0437-711-201-1 12V-20W/20W(S25) 2

9 RKTY 1 NGK BP5ES

_48_



14, H—EREHCED) EHEFESR

1 2 3
A7 ~(B B4 x7° b= (5 4F399410-) A7° V=GR =2)
5 #&a—k EB s R B g = /N5 i
1 1300-977-002-0 AT L—-(BE45) 1 EBE/4E
2 1300-978-001-0 A7 L=-(F1FivHh410-) 1 #4F3vH41In-
3 1300-972-004-0 A7V=GAM)=) 1 F4M)=Y

_49_



14. H—ERXREH(EZMDI) EHEE

MOz MOZ-AZ 1 SST LN

m ~_MOZ-AZL
— qre
ETIA =<t B LI ~

MOZMOZ-AZ 1 SSTLANN

- “_ M0Z-AZ I
* — e
~
Hogl ] L] ~

—4 AHE

()

——

2

¥680

£06 P YN
—\NGATE

g

o 0

—t

QP

la

=3

91

Lvep IS |,

B

£o)Y—%

BEG80
#HG 80

V0eY—Tt13

VOLILY—T3

EXRA
ETEA

57!

£L)YAVE

G671

AR

QO

B

£6PYTHES

QO
V0cY—T1

o |=|=|—

Nloo rofro| e

£h)Y—%

\ EN

380

¥590
680
2480

5 g
—

D

)
fiLf\

7

£y — (g%

J6Ed

1

_50_



ST U}

ENSZREL. REARET D

M\ 2T v IR

FREmum&RIL1ITH2 -5
T E L (089)924-7161 ({%)
T E L (089)924-7162 (& ¥ E )
ATRREEGIEGOE 2 mE 1 —1 4
TE L (0198)29-6322 ({%)
RIS AR AR T St 5EAE 6 6 3 3
T E L (0280)84-4231 (f%)
I RV KT AS 5 THL 28
T E L (0584)89-8141 (fX)
ERERILTARILLITH2 -5
T E L (089)924-7162 (f%)
REAR AR 2GS IT KRk 1156 —1 7
T E L (096)292-3076 ({%)
EIg RAN LT B ARHT 8 9 9 — 6
T E L (089)979-5910 (fX)

T 791-8524

F A X (089)925-0771

T 025-0301

F A X (0198)29-6323

T 306-0313

F A X (0280)84-4233

T503-0931

F A X (0584)89-8155

T 791-8524

F A X (089)925-0771

T 869-1102

F A X (096)292-3423

T 799-2655

F A X (089)979-5950



